Lmke,d/togounp,r\ﬁwwu&lew\nmg discuss and,

mean?
2. White the Jollowing numbers in, descending order:
2,605

8,256

162

12,300



ANSWER
12,300, 8,256, 2,605, 462
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Whrite the Jollowing numbers irv ascending order:
33,156

72,305

3,911
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Whabdoﬂwe(ﬁollowmg/s%mbd&mmf?

< >

Comfﬂﬁteﬂwcalwlahon&uwxg/ﬂwsgmbol&above

3,64 4,716
19,234 9,23
3% 2 % 3




Lg*t

. Hundre,d

* Thousand

*  Ascending

* Descending
*  Smallest

. Lcwgest

* Ordered

*  Greater thary
o Less than

. EqpaL’to

o Use the class maths display and your table top resource




Fluf,r\pg/ - Do it

White the numbers in ascending order

Add, irv the missing symbol:




Fluency - Do it ANSWERS

White the numbers in ascending order

Add, irv the missing symbol:




Rewsor\ing/— Secure it

Make a set of digit cards Jor O to- 4. Yow will need

Place the digits cards O to 9 face down
and select five of them.

Make the greatest number possible and
the smallest number possible.

How do you know which is the greatest
or smallest?



Pr\obl,exmsoang/— Deepen it

Using the digit cards O to 9, create three
different 5-digit numbers that fit the
following clues:

» The digit in the hundreds column
and the ones column have a
difference of 2

» The digit in the hundreds column
and the ten thousands column has a

difference of 2

*  The sum of all the digits totals 19



| And Problem,

| ANSWE

RS

Place the digits cards O to 9 face down
and select five of them.

Make the greatest number possible and
the smallest number possible.

How do you know which is the greatest
or smallest?

Dependent on

numbers chosen.

eg. 49132

Smallest: 12,349
Greatest: 94 321

| know this is the
greatest number
because the digit
cards with the
larger numbers
are in the place
value columns
with the greater
values.

Using the digit cards O to 9, create three
different 5-digit numbers that fit the
following clues:

» Thedigit in the hundreds column
and the ones column have a
difference of 2

+ Thedigit in the hundreds column
and the ten thousands column has a
difference of 2

* The sum of all the digits totals 19

Possible answers
include:

47260
56,341

18,325
20476



Plenary |

yow used?
ngowhig}dighifdlbgfﬂnw?
ngowusedijgxsenterm
starters’?

T} so; highlight them green

Rmmembxwtows@amemo}bt&shw
howdegowwxd@nstoodfth@WALT.




Plenany 2

. Put these numbers in ascending order.

@@@@O . 10.1::_005 1000s| 100s

OO0 Gy )

A Add the symbol <, > or = to make the statement correct.

MMXWVII @@@
O 8659

. Use six counters to make five different 5-digit numbers.

10000s | 1,000s 100s 10s 1s

Order your numbers from greatest to smallest.



